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Q. Booklet

PART -1
ENGLISH

Choose the sentence with a non-finite clause.

(1)  With the tree grown tall, we get more shade.
(2) The tree grows tall and give more shade.
(3).  As the tree grows, it will give more shade.
(4] We get more shade because the tree grows.

Smitha said, “Gopi, where are you 7™,

The indirect speech of this sentence is

(1Y~ Smitha requested Gopi where are you ?
(2) Smitha asked Gopi where he was.

(3) Smitha told Gopi that he was somewhere.
(4)  Gopi asked Smitha that she was there.

Choose the grammatically correct sentence regarding the use of “can’.
(1)~~He can sing songs. (2) He can sang songs.
(3) He can singing songs. (4) He can sung songs.

Choose the sentence in passive voice.

(1" Emergency was declared.

(2) | bought a broken chair.

(3) She was cutting the tree with a knife.
(4) She had been ill. ;

Choose the correct spelling of the word.
(1/ agnostic (2) agnastic
(3) aganostic (4) agnostick

Choose the wrongly spelt word.
(1) erestwhile (2) generosity
(3 specific (4) austere

Choose the correct sentence with regards fo the end punctuation mark.
(1) Don’t you think that’s rather hypocritical !

(2)~ Don’t you think that’s rather hypocritical.

(3) Don’t you think that’s rather hypocritical ?

(4) Don’t you think that’s rather hypocritical

Choose the sentence with correct capitalisation.

(1)  She is the first african woman to win the Nobel prize.
(2) She s the first African woman to win the Nobel Prize.
(37 She is the first African woman to win the nobel prize.
(4) She is thg First African woman to win the Nobel Prize.

BiPC/CGDT 2]

Code




A Q. Booklet
Code C
9. Choose the interrogative sentence that is grammatically correct.
(1) How long the queue is 2 (2)  Whata long queue ths is ?
(3) Is this a long queuc ? (4) This is a long queue ?
10.  The following is a personal writing,
(1) Writing a diary (2)  Writing a resume
() Writing a complaint (4)  Writing a news report
11, Writing a letter ordering a book is
(1) apersonal writing (2)" an informal writing
(3)  abusiness writing (4)  an official writing
I2.  The following is enacted in a limited time with a few characters -
(1) A drama (2) A series of plays
(3) A play {4;;" A one-act play
13.  Choose the phrase that we use while giving an example. *
(1) Though ....... (2)  Accordingto ... ..
(3" Firstly ... G " (4) Forinstance ...
4. The following is not the language characteristic of an informal letter :
(1) using abbreviated forms (2)  using colloquial language
(3)  omitting pronouns (4% using formal language
IS.  Choose the phrase that we usuall ¥ use while clarifying something.
(1)  For this reason Qf People believed that
{3) Nevertheless (4) In other words
16.  Choose the expression that can be used to express a reason.
(1) Owingto....... 21 To start with .......
(3) Forexample ....... (4)  In other words .......
17. 1 will celebrate my birthday ?
The language function expressed in this sentence s
(1) aninvitation (2), an obligation
(3) an intention ( an offer
18.  Ican't walk fast.
This sentence expresses the
(1) ability of the speaker (2)__ inability of the speaker
(3)  grief of people suggestion of the speaker
19.  May God bless you !
This sentence expresses
(1) apermission (2) awish
(3 a compulsion (4) an inference
BiPC/CGDT 13] Turn Over
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[For Q. No. 20-24] Read the following passage carefully and choose the correct
answers to the questions given after it.

In bringing up children, every parent, regardless of ethnicity. income, education,
or geographic location, watches eagerly the child’s acquisition of each new skill.
However, it is often tempting to hurry the child beyond his natural learning rate, which
can set up dangerous feelings of failure and states of worry in the child. This might
happen at any stage. A baby might be forced to use a toilet too early, a young child
might be encouraged to leam to read before he knows the meaning of the words he
reads. On the other hand, though, if a child is left alone too much, or without any
learning opportunities, he loses his natural enthusiasm for life and his desire to find out
new things for himself. Parents vary greatly in their degree of strictness towards their
children. Some may be especially strict in money matters. Others are severed over times
of coming home at night or punctuality for meals. In general, the controls imposed
represent the needs of the_parents and the values of the community as much as the
child’s own benefit.

20.  According to the passage, in the process of children’s learning new skills, parents
(1) must encourage them to read before they know the meaning of the words they
read.
(2) should achieve a balance between pushing them too hard and leaving them on
their own.
19{ never expect too much of their children.
(4) should join them in schools after 20 years.
21.  Itis pointed out in the reading that
(1) parents should not give money lo children.
2y~ all parental restrictions are the same. \
(3) parental restrictions vary, and are not always enforced for the benefit of the
children alone.
(4) all parents ask their children to read before they know the meaning of the words
they read.
22 As we understand from the passage, watching the child’s acquisition of new skills
(1) is universal among parents.
(2)_ is not seen in most of the countries.
0{ is very dangerous to their health.
(4)  will make them lose interest in learmning new things.
23, Identify the true statement from the following :
{1y~ The child should be left alone too much.
(2) Parents don’t bother about their children’s learming.
(3) Some parents may be strict in punctuality for meals.
(4) The community has no values.
24. Choose the meaning of the word ‘acquisition’.
(1) watching things (2) playing with toys
eating food (4) learning of a skill, habit or quality
BiPC/CGDT [4]
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25.  Sindhu was asked to produceher certificate to prove her genuinity.
Choose the correct expression to fill in the blank.
(1) ad hoe l}ﬂpksine die
(3) bonafide (4) detour
26. . ‘A person. who tries to make something less good by criticising’ is known as e VS
Choose the correct expression to fill in the blank.
(1) adetractor (2) a culprit
a dictum (4) an epitaph
27.  Choose the word that shows negative attribute.
(1) Smart (2) Sociable &
(3) Courageous ()" Pessimistic
28.  The plural form of *datum’ js
(1) data .(13( dates
(3) datums : (4) datumes
29.  Asha got her eye on the gold ring.
Choose the meaning of the expression * got hereye’,
(1) observed carefully (2) dropped tears
(31 opened eyes (4)  blinked nicely
30.  This is a big suitcase with a leeny-weeny handle.
The expression ‘teeny-weeny’ means
(1)  very big ( very small
(3) wvery large (4)  very smart
31.  Match the following and choose the correct matching option :
A \ B
(1) part and parcel ( ) (a) bigleaps
(i1) rough and ready { ) (b) livelihood
(i1i) leaps and bounds { ) (¢) almost finished
(1v) bread and butter ( ) (d) an integral part
(1) d.ach (2) b,c,ad
(3) d,b,ac (4) d.cab
32, Itisvery important to have good
( governmental (2) governed
(3)  governingly - (4) governance
BiPC/CGDT Is] Turn Over
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33.  The car collided with a vehicle.

Choose the correct word to fill in the blank.

(1) stationery (2) stationary

(3) stationedly [@/ station
34.  Indiais a land of myriad languages.

Themeaning of ‘myriad’ is

UffA several (2) separate

(3) local (4) common
35. - Johnson studies languages. He is

Choose the best word that completes the sentence above.,

(1) acardiologist (2) alinguist

(3) an anthropologist (#) an activist 5

36. Kavya is a precocious girl.
The synonym of *precocious’ is

(1) cheating 1;_'{} timid

{(3) comfortable (4) intelligent
37.  Choose the antonym of ‘Vindictive’.

forgiving (2) unvindictive

(3) invindictive (4) disvindictive
38.  Choose the alliterative expression from the following :

(I) bang-bang {.2')/ ding-dong

(3) easy-peasy (4) hurly-burly
39.  Identify the expression that expresses the sound of a clock.

417 tick-tock (2) pitter-patter

(3) bow-wow (4) haha

40.  An airport is a place ;
Choose the correct relative clause to complete the meaning of the sentence.

£ why planes land (2) which planes land
(3) who planes land (4) where planes land
41.  He gave me the letter, which was in a blue envelope.
‘which was in a blue envelope’ in the above sentence is
a non-finite clause (2) a finite clause
(3) adefining relative clause (4) anon-defining relative clause
42. Thereis to make a cup of tea !

What is wrong with the pipes ?

Choose the correct expression to complete the sentence meaningfully.

(1) _ not enough water (2) not water enough
37 water enough (4) enough water

BiPC/CGDT [6]
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(1) She is suffering from fever. (2Y" He plays cricket.
(3)  lam the greatest persononearth. (4) He is friend of mine.
In case of fire, ring the alarm bell.
The meaning of *in case of is
{1)_ in the event of (1) together with

because of (4) separate from

It’s quite time Murthy came home.

Rm's sentence says that -
) Murthy is at home. (2) Murthy never comes home.
(3) Murthy is already a little late. (4)  Murthy did not come yesterday.

Il you, I would not buy it.

Choose the correct verb to complete the sentence.

(1) am {3}/ will be
(3) were (4 was

She started living in Ongole 10 years ago and she is still living in Ongole. She still
continues to live in Ongole.

The meaning of the above sentences can be understood as -

7~ She has been living in Ongole for 10 years.

(2)  She is living in Ongole for 10 years.

(3) She had lived in Ongole.

(4)  She will live in Ongole for 10 years. ~

She has already seen him.

The above sentence is in

(1)  the simple past tense (2) the past perfect tense
{37 the present perfect tense (4) the simple future tense

He preferred less luggage as the roads were not good.

The part of the sentence, “as the roads were not good’ is
(1) anoun clause 2) arelative clause
(3) an adverbial clause 4) an adjective clause

| believe God.
Choose the correct preposition to fill in the blank.

) over (2) at
(3) on 2 (4) in
BiPC/CGDT [7] Turn Over
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PART - 11
BIOLOGICAL SCIENCE

Meaning of the phrase “Omnis Cellula de Cellula™ is
(1) All cells exist from preexisting cells.

(2) All cells can divide.

(3) All cells contain Nucleus.

(4)  All cells are the product of Nucleus.

“Omnis Cellula de Cellula™ s

(1) o) Sere S0oHSL Serro oD I
(2) sih Epgren iz Do,
(3) &) Sero Soto &0,

i4)  ©d ST Soti%o Sod Dq}d}m.

This vitamin is not available in any kind of food material, only digestive tract fauna
synthesis il.

Bros BOBS Jowwed DO &N Sorge oy THon dg¥abod” dod

a:i'éﬁn;ﬁr Hogses Trgo” 0oHD ?
(H B, 2) B, (3) Vit-D @) B,

Which of the following statement is correct in respective of *diaphragm’ ?
(1) It helps in maintaining of heart beat.

(2) It helps in releasing of lactic acid.

(3) It helps in moving of air into and out of lungs.

(4) It helps in releasing of energy.

‘S5 DTSN’ Se SBADSINSL BoL0HoD HBH TEH.
E'; ) TmEAD 5085 JoHoFoHeS BFADSHE08.

2) o8 eipsm pSed” SFAHIDHSHB.

D E03Ee 602 CSEDE, Babid MBS BFALIDHEHOB.
(4) ¥ 2HSed HFAHBELE0D.

Hormone that helps in absorption of water from urine is
(1) Vasopressin (2) Cartisol (3) Adrenalin (4) Testosterone

SarSod’ DD Fhoskod’ S'6\G FEyS

{) =F@hS 2) =o>é

(3) JESDS - 4 63;33:‘30-5
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(1) Pharyngeal muscles
(3) Circular muscles

(). Booklet
Code

The muscles that helps the mouth enable the food to be pushed into oral cavity are

(2) Longitudinal muscles
(4) Sphinter muscles

oD, e wir0s’DE Bptod’ S%E T8 Sodoe

(1) S Boktren

(3) Seodirs:d SolTw

56. Vasectomy means

(1) Cutting and tied of Sperm ducts (2)

(3) Foeticide
3?&5:1} 91T

) Do 58000 sndiadio (2)

G @re >3

§7. Branchial respiration is found in

(2) 2.’1};&5“5 EoliTren

®

“So58es Eo&ore

Cutting and tied of fallopian tubes
(4) Prevention of sexual disecases

sotTirsom E8600 Snddabto
(4) BoAS Tl JT°Ue

(1) Cockroach (2) Fish
(3) Frog (4) Birds
Ano orgor THEah BAE" HEIND.

(1) &80 @/ 33
3) 5 @) SPHw

58. Cluster of air sacs in lungs are called

(1) Bronchi
(3) Blood capillaries

(2) Bronchiole
(4) Alveoli

&880’ S0t md S Soel JoyEre

(1) xR TP
(3) U5EE s

59. Double fertilization is seen only in
(1) Cycas
(3) Angiosperms

& yobstmo SOA Gold
(1 285

@ E:)Jﬁé}a‘m
BiPC/CGDT

(2) =g TRE0

:I"Cﬁl'ﬁ e

(2) Pinus
(4) Bryophytes

(2) DBV
(4}~ SODHBE DK (AT

o1
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60. The four stages of urine formation respectively :
1. Glomerular filtration : 1i.  Tubular secretion
ii.  Formation of Hypertonic urine  iv.  Tubular reabsorption
The correct sequence is
(1) i, v (2) i, iv, i, i
(3) i m, i, v (4) i, iii, iv, 1
SurEo dyEEos® Ko B¥en SHNEDOS’
i Odyreso ii. ¥ ErSo
ifl.  odTES Ko Som@o IGEL0  iv.  S0rgE HSEEmo

505 SHRE” @ravod.

(1) i, iid, ii, iv @ i, iv, i, fii
() i, ii, i, iv @) i iii, iv, ii

61. Stethoscope is discovered by

(1) William Harvey - (2) Marcello Malpighi
{3) Rene Laennec (4) Fabrici
REINDID BORS, THIS _
(1Y 2®aho 5% 2) 0,E Srdye
@) Bd83E 4 @
62. The liquid portion after the formation of blood clot is called
(1) Serum (2) Plasma (3) Lymph (4) Water
B¥o NESEIS S8 DADS (BT STel e
@ %o 2 Fx (3) ®od 4y D
63. This shows remarkable affect on photosynthesis :
(1) Temperatire (2) Humidity
(3) Intensity of light (4) All of these

$5eaesS; SO@FH $0HE GOBEH (Serso Srdd.

() &S () ogs ©) soddss @) 2y
64. In grafting the plant part which supplies nutrients from soil is called

{1) Scion (2) Graft
(3) Stock (4) Branch
€508 5&86205‘ 3050 Jo od Fisred ©ododd
(1) Habee (so0tn) 2)
@ T @ s
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Forelimb of whale. wing of bat, hand of human being are said to be

(1) Homologous organs (2) Analogous organs
(3) Remarkable organs (4) Common ancestor organs
Solioo Tere, Kyvo B, HAH Jow, q;‘:ﬁ'}:]
@/ Qo e eSADI (2) (Sorary eSdbare
(3) 0BOIGAS eSdhTre (@)  FSrS; Frbioo eSdhTrw
66. John Daper : Human Physiology : : Charles Lyell :
(1) Principles of Geology (2) Natural Selection
(3) Malthus theory (4) Genetics
=0 G50 1 S ¥08 36 THo 11 B0 8 : 4
@ Principles of Geology (2) 58 Sgo
7
(3) Srgd drrossn (4) =g Tpw
67. Phytoplanktons means
! (1) Plants grown on river side (2) Plants grown on surface of water
(3) Plants submerged in water (4) Plants grown on trees
D)E RIS GS
() 35 85 ool 20 Inges ((2) D63 &s0S00d BDATE Infes
(3) 3E 50IA Hod I @) Szro DOA InFHm
68. Charles Elton relates to
(1) Embriology (2) Physiology
(3) Ecology . (4) Geology
DGR I OIS $020HoDS T,
(1) D088 TR0 (2) ¥05 &5 THo
@/ e5:50¢9 %'“Qo (4) qirﬁqj %“Qo
69. The process involved in the formation of seedless fruits
(1) Parthenogenesis (2) Fragmentation
(3) Regeneration (4) Sporulation
T B Hore GG Sdan
(1) >pTEss (2) IgodssS
(3) bmsdssS - @) 30SsS
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@ ?g DHesS%0 > f_g Desrirs > How¥oho — GArd

71.
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Pathway of ovum in female reproductive system is
(1) Ovary — Oviduet — Uterus — Vagina

(2) Vagina — Uterus — Oviduet — Ovary
(3) Ovary — Oviduct — Uterus

(4) Uterus — Vagina — Oviduct

D 50588 3;556° sotsn Faredom SrgEw

(2) ArD - ﬁcﬁﬂa&ﬁ:a =S é} Herrirs o E_i‘.l_ Het%0
' fg HeS%0 — & Doy — Hopdavo
(4) Kowdabo — @rd — b Deoriry

& =

Phenotypic ratio of F; generation in Mendel’s Monohybrid cross

D& D Dokt SAros’ Syers A58

y 1:2:1 (2) 2:1
321 (4) 1:5:2

The tendency of pollutants to concentrate as they move from one trophic level to the next
is known as

(1) Bioaccumulation (2) Bio-magnification
(3) Biological Progression (4) Bio-remediation
SO Fend” Sioren FoBEdly Iorssn

(1V/ B2 350 @ 82K 35)856e00
(3) BIEIHENS (4) B oS0
Which of the following system co-ordinates to digestive system ?
i. Circulatory system ii.  Nervous system
iii. Skeletal system iv. Reproductory system
(1) iandii (2) iandii

(3) niandin (4) i1andiv
BPEAHH D B8PS BWIGULO B0 ?

i/ O 5506 i, od 553

iii. @’Qéczsﬁ S5 iv.  ([SdSyd Sy
(1Y i SoBa% iii @) i>Bamw ii

3) i B ii ({ i 0Bk iv
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74. Passing of characters from parents to offsprings is called

(1) Heredity (2) Natural selection

(3) Varnations (4) Aquired characters

2500 oferod So3a3Zr0d Hidab

(0 sws08ss Q) 350 3550

(3) gﬁq:";m (4) eﬂgiﬁ orFeen
75. The resin obtained from Pinus is used in

(1) Varnish (2) Bread (3) Rubber (4) Medicines

DS JoE), Hod B B Salrds’ ;oer.

@ T 2 B& oY et 4) Sohes
76. Scientific name of “Touch me not” plant is

(1) Mangifera indica : (2) Mimosa pudica

(3) Azadirachta indica (4) Cincona officinalis

9SS In% FHaH T

= = (¥ ] s
(1) Srs0E=s 3085 (@) D Tgas
(3) e="Clszods [4)/ 205 ehhrdh

77. Microvilli is present in ‘P’ and they work as Q. The *P” and *Q’ are
(1) P =intestine, Q = Absorber of nutrients into organs
(2) P = Abrorber of nutrients, Q = Intestine
(3) P =Small intesting, Q = Absorber of nutrients into blood
(4) All of these :

Arg; rise ‘P & ¢o) 573 39 ‘Q° 08 P HBei» ‘'Q’ @

(1) P=230, Q=esSchrod ol Jisre §500
(2) P=23F5se §5800, Q=S
@ P =25 210, Q = §506°28 JFSzro §7500
)/

(4) D3
78. Energy currency is the name of this and it is formed due to

(1) ATP - Digestion (2) NADP — Respiration

(3) ATP - Glycolysis (4) NADP - Glycolysis

“J5Q 5By & B Denartd 7 30 D S8 O0" D&y ?

(1) ATP-&5Ean (2) NADP -#S5@ad

@ ATP - isrobh (4)” NADP - Bs*oh%
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Cuscuta plant absorbs food through

(1) Haustoria (2) Stem

(3) Root (4) Flower

sy 3008, 02 o sy RESROD.

@5 Srise @) So&EID

(3) I 4) PP

The digestive juice without enzyme is

(1) Gastric juice (2) Pancreatic juice
(3) Intestinal juice (4) Bile juice

208 T°E J0BD 89 £g 6o

(1) =855 () £ 850 .

(3) e30|<§ 50 ':.365 B0

Which of the following is not related to the 4 R’s of environmental protection
(1) Reduce (2) Reuse
(3) Recycle (4) Remove

507555 DOTEED s Treotd ‘R’ 0 DoEAB
(N aﬁc{:ﬁo ; (2) <6A Tridio
o) wssdawo 3o Sando

Watershed means

(1) Land between water sources usually of two rivers or streams.
(2) Village boundary

(3) Drainage system

(4) Village tank

o35 26 edr
(1) Codd Sthw Sor srenso gl & Zroso
Q) rEre ST

(B) S0tib e FBEO S8

@ o309
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Match the following :

L Skin ( ) a. Bile pigments

ii. Liver () b. Sebum

iii. Colon ( ) c. Salts of calcium, magnesium
2830504,

1. leile () a 805 ;’)g&‘-‘m

ii. S*8ddo ()b oo

iii. 2@ () c s@dbo, mﬁqj@m oSere

b.a ¢ (Z) ab.c
(3) c,ba (49) b,ca
.. The method of artificial propagation by which thousands of plants can be grown in very
short period 1s 2
(1) Grafting - (2) Layenng
{(3) Cutting (4y Tissue Culture

S5 w0 5:568" o vo” KD o HSD THErHE IO

(1) eoén Stnd (2) oo SEJE’&J
.13;"/ Sess0 (@) seomro 3550
The tropic movement of tendrils is

(1) Geotropism (2) Thigmotropism
(3) Chemotropism (4) Hydrotropism
58 SKodD esYso

(1) TOHS; D3G50 @ Y BRGS0
(3) OraDE BSYSo (4) e eSYSo

Sense organ — | A| —— Spinal Cord — —— Motor nerve — Tissue

Here A and B represents
(1) A= Brain, B = Sensory nerve (2) A =Sensory nerve, B = Receptor
(3) A= Receptor, B = Sensory nerve (4) A =Sensory nerve, B = Brain

Fooddbo — (A — Senarsn — |B| — ToETG — S0Ero0
&I A, B & Jokdens Soe

(n A=33:§GJ,B=E;§J:J‘& A=e;aavc1,ﬂ=w3=§o
(3) A=(vFSo,B=23 TG 4) A=g8 TG, B =088
- (]
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87. Weeds and some wild plants are not eaten by insects, pests and animals because
(1) Their leaves are very small
(2) These are not attractive
(3) The plants may contain toxic chemicals and unpleasant to taste
(4)  All the above

ey SO §T) oG IHOD Sy, DE HHI0o WOWR HOBWYD
S5ED856G°D8 o s°0m0o
(1) 53 sHen D[ GOGE0.
2) 3D essgedabor SosEdEsEo.
IS DSOS Erabe SOR 855208 Dewsed BDE oo

(4) :.iﬁb;l

88. The biological process in which light energy is converted into chemical energy is

(1) Respiration (2) Photosynthesis
(3) Excretion (4) Transportation

50 ¥4 5 aHIE Fr LY #5 o
(1) @& dad 2eaesdy Sodr (3aD
(3)  DILE Bav 4) @S0
89. End products of light dependent reaction is
2o0d Te3& 5708 B0 o ST T

( I ChH 1 E‘Dﬁ {1} CDI
@ 0,. ATP, NADPH (4 H,0

00. These seeds are used in the production of biodiesel

(1) Groundnut (2) Jatropa

(3) Coconut (4) Sunflower

& Do ndrdad 6385 DIREAFLD.

(1) SISK @ Sy

(3) Sl (4) RO
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94.

(). Booklet
Code C

The physiological disorder due to accumulation of heavy metals into human beings
through food chain is

{1) Renal damage {(2) Tooth decay

(3) Loss of eye sight (4) Heart discases

Srs9es eftmeo OHo TS DEGo SoS SIR #0058 s

@ Sor@hoGee Seods (2) Godscho
f
(3 Soekhirmy S6ysEo (4) 100G zenye
Expand BOD.
" BOD &5
(1) Biological Oxygen Defficiency 5

(2), Basic Organic Dominance
Biological Oxygen Demand
(4) Basal Organic Demand

‘ESRD’ is related to this organ and its full form is
(1) Lungs — End Stage Renal Disease

(2) Kidney — End Stage Renal Disease

(3) Kidney — External Sophisticated Renal Disease
(4) Lungs — External Sophisticated Renal Disease

‘ESRD’ &3 5850 D es300508 Sonogea) $OA o, $0ain ESRD 2 I3005m

(1) &:208 e — End Stage Renal Disease

@ SargSnos e — End Stage Renal Disease

(3) SorS$Hos e — External Sophisticated Renal Disease

(4) &:5b&&eo - External Sophisticated Renal Disease

The cardiac cycle contains

(1)  Auricular Systole (2) Ventricular Systole
(3) Aurico-Ventricular diastole (4) All of these
595 Soabod sORd
(1) 3B%o nd (2) =¥8%e i':nzigg
¥

(3) $p¥o-—awBso darys (@ Y

BiPC/CGDT [17] Turn Over
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95.  Very poor muscle development, swollen legs, fluffy face, diarrhoea and dry skin are the
symptoms of this disease
(1) Kwashiorkar (2) Marasmus
(3) Obesity (4) Pellagra

Sodoro 2Hihde oroe S8 &o&so, ), 3o, Swgo &y Josso,
FE0S 36,0, oiSTren & 50 ofrre

QD sshavss ?) Do
{3]/ RPos*abdo 4) Deyr

96. Material required to conduct an experiment to prove CO, is evolved during respiration

(1) Glass bottle, germinating seeds, thermometer

(2) Glass bottle, germinating seeds, lime water

(3)  Glass bottle, dry seeds, thermometer .
(4) Glass bottle, dry seeds, lime water

THEADS" S5 B &8 AnSepEosd BCRNED T7oe DErDODED S0 i
(1) ree 53, eS8 T, $ou ek

@) e 5, 3ne38s Do, 23 Do
(3) e D, Jo g, oynes

(4)  er 2, Joth DTrew, 0539 DeH

97. Correct statement among the following :
I Xylem transports minerals and water.
. Phloem distributes nutrients.
ii.  Xylem has upward movement.
iv.  Phloem has also upward movement.
(1) i1andii (2) i, 11 and i
(3) i, iii and iv (4) All of these
BoB >e36° 5355 TS50 H80Hw.

L OO P oSered OGS D3 e S,
il DE Sesmroo 5K STTom e oo,

. oY 2IY Soso EOA Hoth.

iv. 255 Smereo Srge 23 Soso DA Hothd.

@ i 8a%w ii (2) i, ii B iii
(3) i, iii 30805 iv (4) 355_1
BiPC/CGDT i [18]
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98. This is the way how sperm break through the egg cell membrane
(1) Tears a hole in the membrane
(2) Dissolves the membrane with chemicals.
(3) Bites through the membrane with teeth.
(4) Squeezes through gaps in the membrane.
H(EEe20, BOGD) T S008.
(1) 0 555062 So|gd) Dgyso TT
@D ot 507 SravTres SBhoitko oo
(3) ©o& 55T Susko oo
{4/ 0k 55080 Frood S _.Dr:ic: o C
99, What happens when Adrenalin level increases in our blood ?
i. . The hair on the body becomes erect and we get goose bumps.
ii.  Skin becomes sensitive
1ii.  Anger decreases
iv.  Urine may discharge
(1) i.1andin (2) ii, it and v
(3) - miandiv (4) iLitandiv
5508° GBS TFon DOASIE
i, ESrey D% HHoLron.
ii./ S04 08 N SS0 2D od.
iii. 5Wo SIHDos.
iv. o :);’:.Q:& aﬁﬁmfﬁﬂj.
(1) i, i1 o0d5 i (2) i, il 0B iv
(3) il B iv i, ii s0Bako iv
100. This part of brain controls hunger pangs
(1) Medulla oblongata (2) Diencephalon
(3) Cerebrum {(4) Midbrain
&5 BrSS0:5 Dao|Boid InGhd' o
(1) e Sozo @) oo
(3) D[P @ gy D
BiPC/CGDT [19]
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101.

102.

104.

PART - 111
PHYSICAL SCIENCE
Which of the following has high electronegativity element ?
(1) Cesium {2) Chlorine

(3) Fluorine (4) Hydrogen
208 635" e5;0% wwes I;EEE SPS Swroso

(1) »eEavo 2) §06o

(3) 65 {4/13@‘&-5

Which of the following pair has same properties ”
5 (300 738" 2.8 UEDD ;;:‘-U“am 595 Sroso 88

(1) ~Na, K (2) Na,Mg
3) F (4 H,,Cl

. Which of the following is not ionic compound ?

e (200 T°OE° DB wairdE SyEiso 57 ?

(1) NaCl ) AICI,
(3) MgCl, 4) BeCl,
Number of sigma and pie bonds in N, molecule

N, ©e0pE DTy, D woTrey SWd

(N 13 2) 2,1

(3) 1.2 4 31
105. Octet rule is not valid for the molecule

&3E dabvo edosd) e

(1) CO 2 0,

[M/ H,O (4) CO,
BiPC/CGDT |20]
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107.

108.

109,

110.

(). Booklet
Code C

Which of the following is correct in the case of overlapping of orbitals ?
S16A0he) oS S50SDH PSonodod & ($od IE DB D550 ?
v
(1) SS=S-P>=P-P (2) S-P>SS=PpP-P
(3) S-S<S-P<P-P (4) PP>SS>SPp
The unit of potential difference is
(1) volt (2) watt/ampere
(3) joule/Coulomb (4) All
SEJa0d SaH Sarere
(1) 5§ (2) T¢5/eso0dand
(3) &5/5r=od (4) D3 ;
A bulb is marked 70 W and 210 V. Its resistance is
2.5 203y & 70 W 9805 210 V ed /H8050dS0. oo J8°¢0
7 ? AL i,
(1), 2100 2) 70Q ®
( 280 Q (4) 630Q .ﬂﬁﬂ‘ 5
'I"'
A 100 € resistance cut into five equal parts and are connected in parallel. The equivalent
resistance is
100 Q DESS0D Db BEFS grrrenn FRod eI SSrostSon 005 s
D &30
u/ 200 : ) 100Q
(3) 40 4 5Q
If the length and diameter of a conductor both are halved, the resistance of the conductor
become
(1) 4times (2) doubled
(3) does not change (4) halved

2.8 TIPESD &P SO TrsH0R SO SAY ovd D6’
(1) 438 DO @) BeIoSIHD
R

v
(3) 36 (4) SHNo eHod

BiPC/CGDT |21] Turn Over
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The direction of current flowing in the coil is shown in the figure, what type of magnetic
pole is formed at the face of the coil ?

(1) East (2) South
(3) West (4) North

3608" Bif Q6" 2gS BT BF SrSwdod. 5o S 003D VG Hyso

() Sr&y {.?{ &8e90
() & (4) &880

If the angle between moving charge and magnetic field is 0. The magnetic force acting
on the charge is given by f=

588 esdzDd, odbes o0 S¢S0 ‘0" &5Lond & ed¥od SATH
uc‘iré-boa 200 f=

(1) qVB cosec B (2) qVBcosB
{ ave

(37 qVB Sin 6 (4) qVBtan®

Generator converts mechanical charge to energy.

(1) Sound (2) Light

(3) Electrical (4) Wind

25006 airo@s ¥4 O ¥ 50ty 08 ?

(1) & 2) sod ¥
{3)/ s ¥ (4) 5558
BiPC/CGDT 2 [22]
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generated in a closed loop is equal to the rate of change of magnetic flux
passing through it.

(1) Motional EMF (2) Induced EMF
(3) Motional resistance (4) Induced resistance
2.5 S0B)S &S’ DY Bk, DeoS TR VGG BAHIOS LDTTY

Sty Centd HSrSo.
(1) 15535 Ioromes 2o (2) (208 ImTHeS OO

(3) K0 &G0 «ﬁ (98¢ D60

Pick the odd one

(1) Galena - (2) Zinc blend
(3) Cinnabar {(4) Bauxite
808 T8 DI,

{r{ Adae (2) 205 Zgo&
() S5yerb 4 @3S

For the purification of Blister-Copper is suitable.
(1) Poling (2) Distillation
{3) Liquation (4) Electrolysis
S0HG 56 :5(‘38 oo -‘;ﬁg Ddbe.

() 3K . @1 530

(3) Hodo (4) DesBENe $EdD

The flux used in the extraction of lron.
(1) Silica (2) Flint
(3) Feldspar (4) Lime-stone

20S 855 SoynTreod T4 (55570

(1) o= (2) oS
G) N @ o3 oow
BiPC/CGDT [23] Turn Over
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118. The catalyst used in the hydrogenisation of oil is
(1) Pelladium (2) Sunlight
(3) Nickel (4) Molybdenum
Srde TEEdssnd =G edoso
(1) degeddho (2) Sroysrod
& =6 @) SrOQsD
119. On what basis Pauling assigned the electronegativity values ?
(1) Bond energy (2) Bond length
(3) Bond angle 5 (4) All of the above
Pauling 5¢3 esgrore 2oes DO 58 JepdHord ST ?
(1) o6 (2) =0 &rbo
4
(3) =0 S0 (4) DS
120. Convert boiling point of water at STP into Kelvin
STP ¢ D3 SHeHiH> SANS 356" Srthod.
(1) 373K (2) 100K
3 0K 4) 273K
121. During refraction, which of the following property of light doesn’t change ?
(1) Direction (2) Frequency
(3) Wavelength (4) Velocity
SE4R5%0 OASSpE: S0 & Srtoe.
{}/ &¥ (2) PDDIg0
(3) &tor 3Fso (4) o
BiPC/CGDT |24]
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122. A bulb is marked 60 W and 12 V is connected to a 12 V source, its power will be

60 W, 12 V o) @3 nopd 12 V bl 5358, ¢ 20a@rhod ;s

5 (81,8
Lok
(1) 60W (2) 6W
( 0.6'W (4) 0.06W

123. Which of the following undergoes substitution reaction ?

(1) Alkanes (2) Alkenes

(3) Alkynes (4) Both (1) & (2)

208 A&° (5T Se0 ST DGHHISD r
(1) oFD {3( )%

(3) 8% (4)  (1)Dda™ (2)

124. CH, - CH=CH = CH,
Name the [UPAC name of the above compound.
(1) Buta2, 3 —diene (2) Buta?2,4- diene

(3) Butal, 2 —diene (4) Buta l, 3 - diene
CH, - CH = CH = CH, &w5), IUPAC TR0

(1) woger 2,3 - Earre (2) orser2,4-Sore
@) arer 1.2-Gars (4) ewrger 1.3 - GoweS

125. The general formula of ketone is

208 728" 45°5 (5H0DH BBIEND BB,

R
()., He=p (2) R-0-R
v |
4
0
| 3
(3) R-C-0OR (49 R-OH
BiPC/CGDT |25] Turn Over
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Refractive index of glass with respect to air is 2. Then the critical angle between air-glass
interface is

™0 Stor reee SEYSS 100080 2. mrer 1O 555 Soo S0, 508 S0

(1 30° (2) 31.86°
(3) 45° ;4{ 29°

The unit of refractive index is

(1) Degree (2) Radian
BG) &) (4)  No unit

SEPSS 10650 Bs, Sireren ’
ﬁ} Glfiew : 2) Jcapy

(3) (1)8a» (2) 4) 3

The focal length of plano-convex lens is 2R, its radius of curvature is R. Then the
refractive index of the material used is

&S Shdo HogrsY SLko TErosto 2R, S F5rgo R ©00s, Sairbd >as

ﬂ/

)

Sorg 518455 Moee¥o.

I

(n
(3)

Iod |

Focal Iength of the plano-concave’lens is when its radius of curvature of the
surface is R and n is the refractive index of the lens

n SELS 10650, R IS T30 Ko 2.5 Sk Herss Sest0 Do), Teriosto

-R 1}[ n—1

(1) R (2) R
/" R n—1
(W (4) -R

BiPC/CGDT - [26]
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130. Find the focal length of the lens, if the power of the lens is — 2D
(1) 49cm (2) S0cm
(3) 5325cem (4) 55cm

S0ed S&¥ Do — 2D sons e S Sgrjostio

(1) 49 »o.2. (2) 50»0.2.

@ 52.520.5. (4) 5520.5.

131. What is the value of Planck’s constant ?

Q_fagf.gcvagc:}mn ‘ 5
() h=6.626x102)s _ (//h 66.626 x 10718 Js
(3) h=6.626x 10 Js (4) h=6626x10]s

132. Which rule is violated in the electronic configuration 152 25" 2p* ?

(1) Bohr (2) Pauli
(3) Aufbau (4) Hund
1s? 25" 2p* augﬁ Agsos” D JAHHo eEDOSVAESS ?
(1 &6 @ 2
o ERE (4) Svo&
133. Temperature of a body is directly proportional to

(1) average kinetic energy of the molecules
(2) average light energy of the molecules

(3) average potential energy of the molecules
(4) average total energy (KE + PE)

SR SPNS _ H e S5rid 8o’ dotwod.
(1) oo 5050 Nde ¥

(2) oo 50750 s0d ¥

[1{ VPO ST00 A ¥

(4) orPo S0 P ¥4 + K #8
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When ice melts, its temperature
(1) increases (2) does not change
(3) can’tsay (4)  decreases

S0t SnK)eo SOASIp o) SIS
(1) DHIHE®OO (2) Sris

-:ﬁ 3585w (4) SIEBd

. Find the temperature of a mixture of 30 gms of water at 40 °C temperature and 70 gms of

water at 20 °C temperature.

40 °C &S o 30 (. 5632 20 °C &S Ko 70 . 5e38° €D, & DEEHED

D%, 3OS GRS
y 16°C 2) 70°C
) 24°C @) 40°C

. Zn+ HCl—> an\i.‘i3 + H:

ltisa __ reaction.

(1) Reduction (2) Redox

(3) Thermal (4) Oxidation

Zn + HCl—> ZnCl, + H, :

30 &5 S

(1) gobstes 5 esd\55es FaEOE
B) &3 (4) edge

Which of the following will be injected when honey-bee stung ?
(1) Formic acid (2) Succinic acid
(3) Common salt (4) Vinegar

33835 D353t ¥0B0E" 3%, BradSo.

(1) 85 eo (2) 8308 esxo
(3) >0 &3y (d{ 2916

BiPC/CGDT [28]
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Name the type of reaction, when lead nitrate heated to dark brown.

(1)  Electrolytic decomposition (2) Thermal decomposition

(3) Double decomposition (4) Photolytic decomposition

BE 335 I8 I SN s Sorb Trdind Debdonod. ad D 5520 B85 2
[14/ DeigS DK S (2) &R ISeK BG;

(3) &508s JOArTo (4) sS0S IAFN B0

The spoilage of food can be prevented by adding __ ~ vitamins as preservatives.

5550 FESHOG DoTroodl D numgm,m&a :

(1) A.B ‘ m/ D.K
3) A.K @) C.E

We get diminished image with a concave mirror when the object is placed
() a*C (2) between pole and F
(3) beyond ‘C’ (4 at'F

DT8O 008 Do 359Dow S03rmo 5y S0Aree0 Sof] SEpST GOG
- =)

RoS8y0.
(1) *C 3¢ 5P &0 (2) 6 2B F 0 5 59 608
[1;{ 559 'C' H eS0 ol @) S0 F 5 &od

“Light selects the path which takes the least time travel.”
This statement was given by

(1) Fermat (2) Snell

(3) Hygens (4) Newton

o8 JgPypdr (Bdire S0 ST &od Srod) JoHHotnod” &I Doy

Tod
& 0385 ' 2 o
(3) TR s ' (4) Srgead
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142. In torch light the bulb is placed _of the reflector.
(1) wvery near to focus (2) at radius of curvature
(3) at centre of curvature (4) between pole and focus
&8y 865 ey SoSgto Bws), S8 sohetd.
(1) =>H2 SHom (2) &Gy S5e 3‘53"99 58
(3) Se oo 3¢ @ Gys0, TDe Wés

143. An object of 10 cm in size placed at 20 cm in front of a concave mirror of focal length
10 cm, then the size of the image formed is
(1) 10cm (2) S5cem 5
(3) 20cm (4) 15cm

10 20.20. Tgr5oBto Ko Yerss SEs0 S0 20 H0.%. Ersos® 10 20.5.
S05re20 Ho SRIHI GoDS D (SSow S8:5ree0 0..08

(1) 1020.%. (2) s»o.ln.
@ 2020.5. ) 1520.5.
144. The nature of substance converts blue litmus to red, but no change of colour with red
litmus is
(1) Base (2) Neutral
(3) Acd (4) Can’t decide

&8 S0°Go 2O ey sATmD) SoIH I, 5% DY Heyd Sorbi L Soid Ko
s*Adorr Srtyd. 828 ($0d FgrSo &otid.

() g6 (2) ey
@ ox (4) I9ySse
145. Magnesium reacts with HCl produces  gas.
(1) Oxygen (2) Nitrogen
(3) Chlorine (4) Hydrogen
Dhyano, ETOE o8’ 56 by aathid 558 Dbtsorn TamD
() edyes (2) eSS
(3) o5 - @ TE=S
BiPC/ICGDT 30]
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146. Which of the following is an antiseptic ?
e (808 *VE° oIR8 e SASasw Sorgo

(1) = Na,CO, (2 NaHCO,
(3) NaCl (4) Na,SO,

I47. For the same angle of incidence on media P,Q.R angle of refraction is 45°, 15° and 35°
respectively, then write the medium in ascending order of velocity.

&8 585 5000 JeSH P,Q.R dirdsred’® Si8e15s Seren SO 45°, 15°, 35° sons
36 508 e, (e85 Shod)

() R<P<Q (2) Q<R<P

3 Q<P<R (4) P<Q<R
148. The colour of the sky appears to an astronaut is

(1) Blue (2) Orange

(3) Red (4) Black

o3 essmo SSad Solb

[lf( QOO0 (2) eGo
(3) 0D 4) S

149. The quantum number, which says about the size and energy of an orbit is
&5 555 O, 305600 0ds» #5) 89D s750es0 Hogs

(" n ) 1

(3) m, 4 m

=

150. This is convex lens made up of three different material. How many images does it form ?
& ByDogrss Swso Juwred I Sorges’ St Iabedod. 88 DEH B8

doro :-':':D&ZIE

(21 (2)
(3) 2 _ el
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